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- _ _ NE
SA B (BH) - MRAY - B2 Ofl &+ 04 il it o Hnz2
—EspAase & &'l 10,0002 * 62 600
301 LPB AR 4,200 4,200 0
10 BAAHI B A 4,200 4,200 0
OSSIBBHLA ALDS A AH S 10,0002 * 1184 * 23] 2,200
OSSBBHE 24N A8 100,000 * 102 * 13] 1,000
OSBBHE ARNSAA AHI24 40,0008 * 258 1,000
401 Al&HIL 20| 25,000 0 25,000
01 Al&db| 25,000 0 25,000
OS2t 2BHAAY & & 25,000,0002 25,000
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2 27,272
= 10,130
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301 LBBAI 71,692 72,570 ABT78
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2 34,290
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= 10,130
2 34,290
BEHE 352,610 336,210 16,400
BaEy 29 133,000 128,000 5,000
201 Yereo| 133,000 128,000 5,000
01 AtRZ eIt 130,000 125,000 5,000
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SN MEHRE D
o 2PYlP HE QL WS
o9l 2R2d 2L (Sl &2
- _ _ NUE &
SN HH . C(B) - MRAY - BHS Ofl AF o4 il it o HRZ2
405 AHoHESHI 5,000 3,000 2,000
01 T =S FH SHI 5,000 3,000 2,000
OFI=zdz 2 AR 7Y 1,250,000& * 45 5,000
STDSHABN BHSH(EE) 350,000 680,000 330,000
= 100,000
= 250,000
307 BI2HOI 350,000 80,000 270,000
= 100,000
i 250,000
04 CIZFSHALE X 350,000 80,000 270,000
OUfstel= 2& =M Nl 350,000,000& * 1A 350,000
= 100,000
2 250,000
28 22 D|EHA FH| 20,000 20,000 0
401 AIZHIL 2O 20,000 20,000 0
01 Al&H| 20,000 20,000 0
ORI Ald2 EHI 20,000,000& =+ 14 20,000
ME 22 DIE &= 1,825,527 1,408,850 416,677
= 600,000
= 180,000
i 1,045,527
MEI) =013 1,825,527 1,408,850 416,677
& 600,000
= 180,000
= 1,045,527
HEAMED 20 1,600,000 1,408,850 191, 150
z 600,000
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el AET) %OI-‘S—% (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
& 180,000
= 820,000
401 Al&HI YL S OHYI 1,600,000 1,400,000 200,000
= 600,000
= 180,000
= 820,000
01 Al&HI 1,600,000 1,400,000 200,000
OSQUENSALTHE A 1,600,000,000& 1,600,000
& 600,000
= 180,000
= 820,000
HIAE) eHOFS (XA 225,527 0 225,527
101 el 6,300 0 6,300
04 JI2tHIZ2E2ENEE S 6,300 0 6,300
OMENSE E=x=HMHAH 42,0003 108 * 15 6,300
201 LBt 3| 19,227 0 19,227
01 AtS 22l 3,468 0 3,468
Oggt=gH| 3,468
—&IIetd HE U2 289,000& = 123 3,468
02 =234l 15,759 0 15,759
OZ232= ¥ HAl 15,759
—&IIR3 12,159
ez 6,660% » 300kW = 63 11,988
MNEZ 94. 73 » 300kW * 6 171
—arER= 1,200& * 500 * 6& 3,600
401 Al&HI LS04I 200,000 0 200,000
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SN MEHR T
M MEREOIY 2B

el ME) s0I33 (chel: &3

SN FE - SR(SH) - MR - 04 &t o8 e RS2

01 Al&H| 200,000 0 200,000
OSQUENSAETHE AL (2HA) 200,000
—MENHOIZE (22, 01IHE ) 200,000, 000& 200,000

HE YA (MEf2Z D) 46,840 43,920 2,920

CleA2HHI(MEH2t21t) 2,520 1,260 1,260

ol HHI(ME 2t t) 2,520 1,260 1,260

204 XA 2,520 1,260 1,260

02 M E2XH 2,520 1,260 1,260
OFHJAZE(REE,271) 105,000& * 2H = 12& 2,520

Jl2ZH(MEf2tZ ) 44,320 42,660 1,660

223l (e =2t2 ) 44,320 42,660 1,660

201 LetEHH| 23,320 22,260 1,060

01 AtER22/Hl 23,320 22,260 1,060
Oget=gH| 8,800, 000& 8,800
O=gl 5,0008 = 22% ~ 11 » 128 14,520

202 O4Hl 15,600 15,000 600

01 =Yl 13,200 12,600 600
OJl=gf+¥ 50,000&  22% = 123 13,200

02 EAHNYI 2,400 2,400 0
OFRZIE(RE =) 200,000& = 18 = 128 2,400

203 HRF4Hl 4,200 4,200 0

04 RN2ILRFLH 4,200 4,200 0
ORM2ZHRE=&HI(302/015t) 350,000& = 123 4,200
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